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Write the value of the digit 4
highlighted in 51.843.

Jlgw palsiwl Q

&yl dlac¥l S

.51.843 b Jlhal) 4 o3 dasd S|




Jlgw yolysiul

Notimit | [ || aubs | 1-1) B % B =
@ ) Shahad divides a bag of fruit snacks 2. 4dlgd) 4gslal) Sgla (pa LS 3gd Cuanilis
with 5 friends. She divides the 88 s dakad 88 Crawlli Gua ccillira 5
snacks equally. -Sylelly
How many fruit snacks will be left fdadlgl) dgslal) adad (e Al S
over?
O 14 a
O 3 b
O 17 <
O 4 d
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®
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There are 3,000 sheets of paper in
15 boxes. If each box contains the
same number of sheets of paper,
how many sheets of paper are in

each box?

O 2,000

O 200

O 2

O 20

Jlgw yolysiul

duwlwll Gilaxll

.dsiia 15 9533” 3,000 a4
ey 2 il o siag (@sala JS OIS 1Y)
@ gia dsga ALY 2 {.;Sﬂ




Jlgw yolysiul

Notimit | [ || aubs | 1-1) B % B =
. Sl sy
@ ) There are 65 students traveling in o Al Cfjlaw A 05t Wk 65 2

vans on a field trip. Aailase dla

Each van seats 9 students. DUa 9 Al Byl JS 2

How many vans are needed? faggliaall ddlaal) bl 23e oS
o7 2
O o9 b
O 8 c
Oe6 d




Jlga yolsiw] Q

No Limit

N =

A | ] -

ey 3o 995e e e dic dowwd

@ Divide. sl

12) 157
O 13 a
O 14R2 b
O 13R1 c
O 14 d




Jlgw palsiwl Q

N =

No Limit

A | ] -

)l gilgd yuadi

@) Estimate the product: tqupal) gl 3

19.7 X 3. .19.7 X 3

O 30 a
O 60 b
O 50 c
O 40 d




Jlgw palsiwl Q

Notimit | [ || aubs | 1-1) B % B =
. 80801 S1acl daws
@ Find the missing number in the -l davdl) dlleca B (el a3 22

division problem below.
S5
72)28,41110
— 2161 |
684
— 648,
360
— 360
0
O m=7 ;
O m=9 b
O ==28 c
@) =4 d




Jlgw yolysiul

Notimit | [ || aubs | 1-1) B % B =
. &yl Slae¥l Jiluws
@ The average honeybee can travel s puws B gial) B Juad) At s o (e

3.3 meters per second. Aal )8 5. 3.3

How many meters can the honeybee A adads O Juadl ddal San 13ie as

travel in 3.8 seconds? fUls% 3.8
O 1.254 a
Oo0.2 b
O 12.54 -C
O71 d




N =

No Limit

A | ] -

o
@ Multiply.

243

O 2,187
O 1,887
O 1,867

O 2,167

Jlgw palsiwl Q

3>l o) o yeSe dic (b yall

et i)




Jlgw palsiwl Q

N =

No Limit

A | ] -

douudll gilgi 3185

@) Estimate by rounding. U [P KES P

398 - 21 398 - 21
O 20 a
O10 b
O 25 c
O 15 d




Jlgw yolysiul

N =

No Limit

A | ] -

&yl Slac¥l dj)lio

@’ Determine the true statement. Aasaal) §lual) ada

O 1.254 > 125.4 a
O 125.4 < 1.254 b
O 12.54 < 1.254 <
O 12.54 > 1.254 d




N =

No Limit

@ Write the product 7 X 7 X 7 X 7

using an exponent.

A | ]| 0

O 74

Jlgw yolysiul

Gl 7 X 7 X 7 X 7 e gl i)

o)

ol




Jlgw palsiwl Q

N =

No Limit

R | o) 11

Iolg @8) o yeSe e (e die douud

@ Divide. . B}

3) 534
O 178R2 2
O 131 b
O 178R 1 <
O 178 d




N =

No Limit

A | ] -

@) Which is the standard form for
“eighty—three million, twenty—three

thousand, six™” ?

O 832,306
O 83,230,006

O 830,023,006

O 83,023,006

Jlgw yolysiul

dds]l slacVl LS

Ugale & gilaiy 450G " anall daludl) davall o Lo

¢ Zﬁuj @idgw&" 33&3%3




Jlgw palsiwl Q

No Limit | [ 1 B R =
. & pnsd] Slacl
. .47 . . 47
@ Write the fraction Tog 35 @ decimal. (Spie e Al Ao 100 easl) s
O 470 a
O 0.47 b
O 0.047 €
O 0.407 .




Jlgw yolysiul

Notimit | [ || aubs | 1-1) B % B =
. o2l Bl s
@) On a cross—country vacation, Sahar CUA Ay i cuald i)l A ddbe oLl

filled her 43-liter petrol tank eleven By Byds (ga) A1 43 ddr (i

times. Which is the best estimate of ) Gl Al e Jlaal e Juadi La

how many liters of petrol she put in FONAN A gty cuald

the tank altogether?
O 600 a
O 400 b
O 800 <
O 1,000 d




Jlgw yolysiul

Notimit | [ || aubs | 1-1) B % B =
. ¥l Jolgsl
@ Find the prime factorization of the 30 23l Y Jalsall ) Jalail) aa g

number 30.
O 2x3x5 a
O 2%x3%x5x%x5 b
O 2x2x3x5 <
O 2X3X3X5 d




Jlga yolsiw] Q

No Limit

L—\|1-1 H B

slacll wps

@) Multiply. )

4 6 0

X 1 5
O 690 a
O 2,760 b
O 6,900 c
O 6,600 d




Jlgw yolysiul

Notimit | [ || aubs | 1-1) B % B =
. rally deawdll
@) Jabir places 7 books on each shelf i) A A ) IS e i T s

of a bookcase. If he shelves gyl s o< (g Ao LLS 56 auag )i

56 books, how many shelves are dajSU)

needed?
O 63 a
O 8 b
O 6 C
O 392 d




Jlgw palsiwl Q

N =

No Limit

A | ] -

&SI Slaell b & piwsdl slacll wpo

@) Multiply. sl

O 56.2 a
O 5.92 b
O 592 <
O 59.2 d




